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Example:

   Complete these equivalent fraction chains:

        a                                                              

        b                                                            

   Complete these equivalent fractions:

         c                                               d                                               e                                               f                                                           

        g                                         h                                            i                                               j

        k                                               l                                              m                                              n                         

         o                                               p                                               q                                                  r

         s                                                t                                               u                                                 v

   

Equivalent fractions look different but are the same:
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4               and        are both a half. They are equivalent.
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